BAREHXRVDFEILEFERIREAR

’
TJIKF

— B SELT

KTN—THRDGE] (hv—2)= LA HE (BERRY—2)>BERCUEMKE  XEREROBE] (Ov—2)=8b (Xv—2)>41

BISUYRIN—T 1 (5Od—h)
E F % HERES 2 B | IR
03 & B4t 5 BHIH AIRFF A% T2 AR 2341 1 *
07THP BE eiEh bl EWNE. - E| F&E AL 23.1 ] 2 *
11 157 Fikx IEFLbH bni BREE-BHR| FXHYAFEZ 230 3 *
06 7T &4 EhrbH T&L£5H ZHME-EAHE| FEY—1EZ 22.6 | 4 *
08/hHREL bbb HWh e B -FiE| FZRE 2231] 5
1ERPE LTS5 A EBE-hM| FL R 223 6
05 /vith &E cWidd EFE-tEH | F& A 22.0] 7
09 KR &% &2 LWDD ADE-AM| FE AR 21.8| 8
04 &% f&F TS5 &FC EwEE -mE| FR B 21.7] 9
10 & k¥ IEL W3 =HE- Rt TR AR 21.3] 10
02RRER fclicEh FCE tisE-itisE | FL AR 21.2 ] 11
FTISUVR ZIN—F 2 (5a—h)
E F % HERFE A ¥ B | e
12Kl BF bb¥EDC BHE -Hig| FZ AR 2321 1 *
4EMAE hbhiE»L 3% R E®| SEY1EZ 224 | 2 *
15 {84t RF 525 E5C #%)2-B% | &% 7R 224 2 *
VHE $F DIET= 35 AllE-JuiEl | T2 AR 223 4 *
1681+ = L EFE -Hit| FRAE 219 | 5
ZOﬁE:uH BAD IS EEE-AM| FRZ AR 219 6
B3HEES 3 LA HEE-AM| FEYT B 218 7
18 BE Tk HXITBS LEE-thE| P 7Y A 21.8| 8
17THAEE WL L3< e -1tiedE | 2 7R 215[ 9
21 A {RH K38 [ EI =R A FNE-WE| EX7 > Mg 21.0 | 10
BISUYR TN —T 3 (60—h)
E F % HEREE % B | R
= HEXVE D&S HPS AIRFF- A% T2 AR 243 1 *
= BIEES CLEAHT #2)|2-B%R | T2 AR 23.6] 2 *
A 30 AT HAIES NI =B - Rt TR MR 22.1] 3 *
= 2YNIEES PP 35k BEE-FHiE| FyErU—1E- 220 | 4 *
= BIEENED PEIE 3IHD MET-BE| FE AR 215] 5
=1 25 FF &% V50 HALY EBE-hM| FR R 20.9] 6
= Bz XSS ThbHE HED ERE-dE| FL A 209 7
= 22 5H EE bl h x AIE-JuEH | TR R 205 | 8
23 fHE B AHES VW3 BEE-mE| FEY 1 EZ 20.1] 9
= BEEERS WEBE T tisE-itisE | & MER 20.0 | 10
FTISUVR TNV —T 4 (63—h)
E F % HERFEA ¥ B | IR
=l 40 B3 1B fehrwnwba #E)E-E% | FE AR 240 | 1 *
=8 36 P 1R2ER IcLfe LW BEE - E#%| F& MR 231 | 2 *
& BEZETL) HAYS DE SHE - mOE|F¥Y1 EZ 23.0[ 3 *
= BES ] BAESZLSH RREB-BE| TR AR 225 4 *
= B ELES 2LWAHAEH =SEE-mE| FYT7YRER 2221 5
& PGEES HWVWE BE biEE-duisE | TR AR 2171 6
8 34/vt X W ES EFE-tEH | F& A 212 7
= BEEEE r&fi- LD WOE- - E| TR AR 2111 8
= BRSNS PIEND HEE - AN | TR AR 204 ] 9
= BELEEES IV X&HD EHE-Fmit| FL MEE 20.0 [ 10




€ miEeRFLELREFERRAS

KT N—TEROBE] kv—2)= LALEHE (BERRAY—)>BERACUERLREE  XNREROBE] (Ov—2)=>8b (Xx—2)=>4l

p_
TJJIK(F

F2S5UVR IN—T 1 (30—h)
E F % HERES 2 £ B | IR
2 06 7T & b IL5Hh ZHE-BAHE| E—/N1 248 | 1 *
7 03 3 B4t 5 HIH AIRFF- A& | NvH144 245 | 2 *
6 14EM B bhiEeL 3% BB % E—/N1 23.3] 3 *
1 07HP BE felah b ERE-thE| NyvH1ET 230 | 4
8 15 ¥EF R F SATH ESC #E)|E-fEE | AV IO 1 228 | 5
5 1154 FIkHE iFLH bni BEE-BE|tE—/N1 22.7| 6
3 12ARILBF bb¥EDC BHE - HE| EAIVFY 225 7
4 VHE HEF DIFT= 35 AIE-JEE | Ny 141 21.8| 8
FE2SUVR TIN—F 2 (43—h)
Ez F £ #REF R £ JiZ % B | AL
1 EA2TR B D&S &S ABRAF- B NvH144 242 | 1 *
5 K40 &3 B3 ehwnwbad wR)IE-EE | NvH141 23.7| 2 *
8 K 338 =Ek BAIREESR HRE-EAE|HIIEA 235] 3 *
6 K= 36 FaH #E6 IcLfe LW EEE-RE% NyH144 233 | 4
kKl = EIEE HAIES NI WE-Fi| hooo484 23.0] 5
7 Bl 29/hB = VEX ] HEE-BE|t1IVFY 229 6
'Y = EZANIEEES PP 35k BEE-FHE -1 22.7 | 7
bl = B HAE S hF SHE -mE| t—/N1 214 | 8
SR EM F1RES (1T3—h)
E F % HERFEA ¥ iR B
1 Emﬁ%ﬂ 5 HITH AIRAF- A% | =——/N1R 24.5 ]
2 33 Bt =AR BAITEESR E N AR PR 23.9 X
SNHERR BE2IE (20—1)
E F 4% HERFEA ® BiR K
1 4EM BE bhiEPL 3% R E%| ZILILVT 7 24.4 X
2 40 B+ BE fehrlh b & )2 - | NyH 141 25.1 O
BB B (33—1)
E F % HERF A ¥ R B
1 06 7o &5 H bbb I&L5H RME-BR|JILILVTF 41.5 ]
2 212 IME D&S5 HPS AIRAF-E&% | NvH1E1 414 X



http://www.tcpdf.org

